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1. Fill in the blanks with the appropriate forms of the verbs given in the
brackets. ' 5x1=5
(a) Don't get off a ‘(Hnm'r\g. (run) bus.
(b) He is T’Jnfﬁrﬂ (run) in th¢3 middle of the road.
_(c) The old man'needs a WCMJCI"S (walk) stick.
' '(d) children are SI2Lmam.ing (swim) in the pool.

(e) The birds are F/J:’rg ....... (fly) in the sky. ]

2. Write 'T" for true and 'F' for false statements, 5x1=5



2. Write 'T' for true and 'F' for false statements. Sx1=5

(A) The old man was treated badly by his son and daughter-
(B) The Arab put-up his tent by the road side.

(c) The thieves removed all the bags in one visit.

(D) Sparrows are always found in pair.

(E) Mothers sing lullabies at noon,

in-law.

‘h"nﬁ HH




3. Match the words with their opposite meaning. 5x1=5

column A’ column 'B'




L:I?\swer the following questions in not more than 15 words. 5x3=15

(A) What do sparrows eat?

Ond i, SPAAAMS.... Primexiy. ..eai. ..... S2LdE..duink . inSe 4
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(B) How were the thieves caught? ST
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(©) Where was the old man forced to sit? .
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(D) Was the Arab kind to his camel? ‘
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(E) What was the prize money? .
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5. Answer the following questions in about 20 to 30 words. 2x5=10

3 (A) What task did Akbar set for the people?
or
Why does the child float his paper boat?
Ak ThS....Questons. Kefexd. 42..0 S‘Pewf—‘msfo»ac o
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(b) Why was the baker angry with the poor man?
or
What did Shankar do to get the thieves caught?
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6. Answer the following questions in about 40 to 50 words. 1x10=10 -
What would you do if you were in Shankar’s place?
or

In the poem ‘Lovely Moon’ what do children do in the moonlight.
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